EE223 Test Il Practice Solution

1. Find i(t) using mesh
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Method 1: brute-force Mesh Current Analysis. Three meshes, so 3x3 set of equations.
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Smart Eip ! ruatjnize 1L-907 =-] wiuch is easier to put into the caleul ator

Method 2: Smarter: recognize we could do it with just 2 meshes; 11 and a supermesh
around the whole right side named I> and I>+the current source
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Method 3: Smartest: recognize that just one supermesh around the outside would solve
the whole thing for I,.
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2. Find v(t) C 3 Y
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Find Thevenin equivalent in the time-domain (i.e. with an impedance made of a

resistor in series with a capacitor or inductor)
2.5 mF
[
|
A% 0
, . 12+ 2 A 120
120sin(10t + 90°) v, < 60 < 10V,
O
Plan - O Cam we do Some Lramsforms + Sumpli fcation ?
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@ Con we Find Vg Tnen 2erd oul sources to End Ze%7
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B Find Vo, then Tsc, tnen divide ko Find Zeﬁ
(1% ol Sources were dependent, we would hawe b vsea test Seurce ! )
Mesh = 3 unknown meshes
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